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Property, Plant and Equipment

Section B10

Accounting Pronouncements:  GAMAP 17: Property, Plant and Equipment
1
.
Introduction

Property, plant and equipment represent a major portion of the asset base of a municipality and
 therefore are significant in the presentation of the financial position.  A municipality’s property, plant and equipment (PPE) are non-current tangible assets
 that are held for more than one accounting period for its own use, in order to supply goods or services and for administrative purposes.  Infrastructure, community, heritage and other assets such as plant and equipment, motor vehicles, furniture and fittings are all examples of PPE.  
A distinction should be made between owner-occupied properties and investment properties.  Investment property is defined as “property (land or a building – or part of a building – or both) held (by the owner or by the lessee under a finance lease) to earn rentals or for capital appreciation or both rather than for use in production or supply of goods or services or for administrative purposes or sale in the ordinary course of business.  Owner-occupied properties are occupied by the municipality themselves and used in the provision of goods and services or for administrative purposes.  
A property might be held for dual-purposes – to earn rentals and to serve as an administrative head office.  In such circumstances if the portions could be sold separately (or leased out under a finance lease) the portions should be accounted for separately.  Where the portions could not be sold or leased out separately on a finance lease, property is investment property only if an insignificant portion is owner-occupied.  As to what constitutes and “insignificant portion”, there is no guidance in the standards.  Owner-occupied properties are accounted for in 
accordance with GAMAP 17 whereas investment properties are accounted for in accordance with IAS 40 on Investment Properties(refer to Section B13).

Sufficient controls need to be implemented by management to ensure that all items recognised in property, plant and equipment could be easily identified and traced to the physical item by using a marking and reference system to the asset register.  The 
asset register need to contain sufficient information to meet the accounting requirements outlined in this section, e.g. depreciation, useful life and annual review thereof, accumulated depreciation, utilisation and maintenance records for evaluation purposes.  
2.
Classification of property, plant and equipment
GAMAP 17 requires certain information to be disclosed for each class of property, plant and equipment.  A class of property, plant and equipment is described as “the grouping of assets of a similar nature or function”.  Grouping assets for financial statement purposes according to their nature or function assist users in understanding the nature of the assets and activities of the municipality.  
Basically, four broad categories of property, plant and equipment exist in the municipal environment, namely:
a) Infrastructure

Some assets are commonly described as “infrastructure assets”.  While there is no universally accepted definition of infrastructure assets, these assets usually display some or all of the following characteristics:

· they are part of a system or network;
· they are specialised in nature and do not have alternative uses;
· they are immovable; and

· they may be subject to constraints on disposal.

Although ownership of infrastructure assets is not confined to entities in the public sector, significant infrastructure assets are frequently found in the public sector.  Infrastructure assets meet the definition of property, plant and equipment and shall be accounted for in accordance with GAMAP 17, e.g. 
sewer systems, water and power supply systems and electricity distribution networks.

b) Heritage assets

Some assets are described as heritage assets because of their cultural, historical or environmental significance, such as historical buildings, monuments, works of art and conservation areas.  The following characteristics are usually displayed by heritage assets:
· their intrinsic
 value is unlikely to be reflected in financial terms based on a market price;
· prohibitions and restrictions may be placed on the disposal thereof;
· they are often irreplaceable and their value increase over time; and

· it may be difficult to estimate their useful lives.

There are some heritage assets with a service potential other than their heritage value, e.g. historical buildings used as office accommodation.  In such cases, the heritage assets may be recognised, measured and disclosed on the same basis as other property, plant and equipment applying either the cost or revaluation model.  If historical recognised at cost the heritage asset can be retained at cost.  Heritage assets for which the service potential is limited to the heritage characteristics need not be recognised in the financial statements.  Disclosure of its existence and physical condition is encouraged.
  
c) Community assets
Community assets represent those assets utilised to the social well-being of the community, e.g. libraries, old age homes, parks, recreational facilities, etc.

d) Other assets
Other assets can be described as those assets utilised in the administrative function of the municipality, e.g. office buildings, furniture, office equipment, etc.  
Within these broad categories of assets
, assets should be classified according to their nature and function within which utilised at the Municipality.  The following are examples of separate classes:

· Land.

· Operational buildings.

· Office buildings.

· Roads.

· Machinery.

· Electricity transmission networks.

· Motor vehicles.

· Furniture and fixtures.

· Office equipment.
Depending on the way in which the municipality is managed, land and buildings can either represent a separate category of assets along with the other broad categories (infrastructure, heritage, community and other assets) or it can represent a sub-category of any or all of the broad categories.

Spare parts and servicing equipment are usually carried as inventory and recognised as an expense as consumed.  However, major spare parts and stand-by equipment qualify as property, plant and equipment when the municipality expects to use them during more than one period. 
  Similarly, if the spare parts and servicing equipment can be used only in connection with an item of property, plant and equipment and their use is expected to be irregular, they are accounted for as property, plant and equipment and are depreciated over a time period not exceeding the useful life of the related asset, e.g. busses purchased containing a kid of spare parts as these parts are not regularly available in South Africa.
2.
Recognising property, plant and equipment
An item of property, plant and equipment first needs to satisfy the definition and recognition criteria of an asset, as set out in the Framework, refer to Section B2.  As a result, an item of property, plant and equipment will only be recognised as an asset when the municipality has control over it as a result of past events, expects it to provide future economic benefits or service potential and the cost of the asset can be measured reliably.
Legal ownership is not a requirement for an item to be recognised as property, plant and equipment.  Control however is essential.  
Control goes hand-in-hand with the transfer of risks and rewards (future economic benefits or service potential) associated with ownership.  
When the municipality assumes responsibility for the asset (repairs and maintenance, licence fees, etc.) in exchange for the economic benefits or service potential embodied in the asset, it can be assumed that the municipality controls the asset, e.g. if the municipality leases a motor vehicle for five years under a finance lease, it is controlling the asset, as a result of the legal owner not having access to the economic benefits derived from using the motor vehicle, (refer to Section B12 on leases for guidance on the classification of lease arrangements)
.  To control an asset therefore means that the municipality can utilise the asset for its own benefit and restrict the access of others to the economic benefits thereof.
3.
Initial measurement
An item of property, plant and equipment that satisfied the definition and recognition criteria is initially recognised in the statement of financial position at cost.  Where an asset was acquired at no cost, it is recognised at its fair value on the date of recognition.  This will however not constitute a revaluation and subsequently the fair value will be deemed to be the asset’s cost.

The cost price of an item of property, plant and equipment includes the purchase price as well as other costs directly attributable to getting the asset to the location and in the condition necessary for it to be operating in the manner intended by management.  These include external costs such as initial delivery and installation, professional fees and import duties.
Only the cost that is directly attributable to bringing the asset to its working condition may be capitalised and prohibits capitalisation of general and administrative overheads and start-up costs, e.g. where a municipality is constructing an asset, the labour cost of all labourers directly involved in constructing the asset will be included in its cost price.
  Other incremental cost can only be capitalised if the definition of an asset are met, e.g. training cost of operators of new machinery should not be capitalised as this is operational cost.  Operators may leave at any time and the municipality has this no control over the future economic benefits.  
The 
initial estimate of the cost of dismantling and removing the item and site restoration costs, where the entity has an obligation to return the site to its original condition, e.g. the clean up and restoration cost of landfill sites, need to be included.
External professional fees incurred in finding a suitable asset, which is then acquired or constructed, may be capitalised.  This contrasts with the treatment of labour costs of own employees in searching for a suitable sites or assets, which cannot be included within the costs to be capitalises.  However, costs such as external professional fees should only be capitalised as part of the cost of the asset when they relate directly to the acquisition or construction of the asset.  Therefore, costs on speculative projects and costs of aborted plans should not be capitalised.  Other professional fees incurred in acquiring an asset such as legal fees and stamp duty would be included in the cost of an asset.   












	

	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	


In the first time recognition of an item of property, plant and equipment previously expensed the item need to be recognised at depreciated replacement cost or an entity specific value.  An asset will be created by debiting the appropriate category within the property, plant and equipment component and the corresponding entry credited to the Capitalisation Reserve.  As the asset are depreciated the Capitalisation Reserve are reduced with the corresponding amount.  

Software development costs

Computer software development costs may arise in several ways.  In some cases an asset comprises both tangible and intangible elements and judgement is needed to determine which element is more significant, e.g. computer software for a machine that cannot operate without the specific software is an integral part of the machine and is treated as property, plant and equipment.  The same applies to an operating system of a computer.  Where software is not an integral part of the related hardware, it is treated as an intangible asset.
Web site costs

SIC 32 states that a web site that is developed for external or internal access is an internally generated intangible assets under IAS 38.  Accordingly, in order to qualify for recognition as an asset the costs must satisfy the recognition criteria in IAS 38 for intangible assets.  These are:
· it must be probable that the expected future economic benefits attributable to the asset will flow to the municipality; and

· the cost of the asset can be reliably measured.

In addition, because it is an internally generated intangible asset, the costs must meet the conditions set out for recognition of development costs.  The criteria for recognition are that a municipality must be able to demonstrate all of the following:
· The technical feasibility of completing the intangible asset so that it will be available for use or sale.

· Its intention to complete the intangible asset or to sell it.

· Its ability to use the intangible asset or to sell it.

· The availability of adequate technical, financial and other resources to complete the development and to use or sell the intangible asset.

· Its ability to measure reliably the expenditure attributable to the intangible asset during its development.
· The way in which the intangible asset will generate probable future economic benefits.  Amongst other things, the municipality must be able to demonstrate the existence of a market for the intangible asset’s output or for the intangible asset itself or, if it is to be used internally, it must be able to demonstrate the usefulness of the intangible asset.

The SIC notes that an entity will be able to satisfy the condition mentioned in bullet 4 if the web site will be capable of generating revenues including direct revenue from enabling orders to be placed.  [SIC 32 paragraph 8].  Indeed the web site itself may contain the product that is being sold (such as information) and access may be provided by way of registration for a fee.  However, a web site that is developed solely to promote or advertise an entity’s products or services would not meet the condition and therefore, all expenditure on such a web site must be expensed.  
4.
Subsequent expenditure

Expenses incurred subsequent to the initial recognition are only capitalised if it meets the definition and recognition criteria of an asset and if it is probable that the expenditure will result in the inflow of economic benefits or service potential.  
Subsequent expenditure can be incurred to either maintain the asset’s original capacity (regarded and service and maintenance cost and expensed in the period in which incurred) and ensure the continued inflow of economic benefits or service potential or to improve the capacity or output of the asset (improves the condition or service potential of the asset and this capitalised.  
Examples of expenditure that could meet the definition and recognition criteria of an asset and therefore may be capitalised are:
· an increase in the capacity of plant and machinery;

· the rehabilitation of a road resulting in a substantial reduction in maintenance costs;

· a modification to extend the remaining useful life; or

· the upgrading of certain parts, resulting in a substantial improvement in the quantity or quality of outputs.

Expenditure relating to the day-to-day servicing of an asset should not be capitalised.  This includes repairs and maintenance as well as the replacement and renewal of immaterial components of an asset.

Example 10.1 – Subsequent expenditure
Consider a newly purchased item of property, plant and equipment.  Before the asset is depreciated, an assessment must be made of the standard of performance expected from it, in order to determine the appropriate useful life, residual value and depreciation method to use.  As part of this assessment, it will be expected that there will be certain future costs associated with the asset in order to keep the asset in a good enough condition to achieve that expected level of performance, such as routine maintenance and repairs.  Expenditure that merely maintains the expected performance levels originally expected from the asset is written off to the profit and loss account as it is incurred, e.g. a head office may have a useful economic life of 25 years.  However, in order to provide the level of performance expected from it, the municipality must repaint the property every five years.  Such expenditure is expenses as incurred, since it maintains rather than increases the asset’s originally assessed standard of performance.
By contrast an entity may acquire an asset at a price that reflects the entity’s obligation to incur expenditure in the future that is necessary to bring the asset to the location and condition necessary for it to be capable of operating in the manner that management intends.  A building might be acquired that requires substantial repairs, or renovation, e.g. a new roof.  In such circumstances the subsequent cost of replacing the roof is capitalised because the cost meets the asset recognition criteria.  It increases the future economic benefits expected to be obtained from the building and can be reliably measured.  




	
	

	
	

	
	

	
	



	
	

	
	

	
	

	
	

	
	



5.
Depreciation

Property, plant and equipment have economic benefits or service potential embodied in the usage of the assets.  As these assets are used in the provision of goods and services, the economic benefits or service potential is consumed, implying that these benefits or service potential are limited and can be exhausted.  Consequently, the value of these assets should be reduced to illustrate the consumption of benefits and service potential.  Consumption of the economic benefits or service potential of property, plant and equipment, other than land, is reflected by a depreciation charge.  

The recognition of depreciation may involve a degree and all the following factors need to be considered in determining the useful life of an asset:
· The expected usage of the asset by the entity.  Usage is assessed by reference to the asset’s expected capacity or physical output.

· The expected physical wear and tear, which depends on operational factors such as the number of shifts for which the asset is to be used and the repair and maintenance program of the entity, and the care and maintenance of the asset while idle.

· Technical obsolescence arising from changes or improvements in production, or from a change in the market demand for the product or service output of the asset.
· Legal or similar limits on the use of the asset, such as the expiry dates of related leases.

The useful life of an asset is defined in terms of the asset’s expected utility to the entity.  The asset management policy of an entity may involve the disposal of assets after a specified time or after consumption of a certain proportion of the economic benefits or service potential embodied in the asset.  Therefore, the useful life of an asset may be shorter than its economic life.  
The estimation of the useful life of an item of property, plant and equipment is a matter of judgement based on the experience of the entity with similar assets.

Changes in these estimates represents a change in accounting estimates and should be accounted for according to the requirements of GRAP 3 (refer to Section  B5)
.

5.1
Depreciation methods

The depreciation method is the basis on which the carrying value is reduced to the residual value over the asset’s useful life.  The method chosen should reflect the pattern in which the economic benefits or service potential is consumed.  
A variety of depreciation methods can be used to allocate the depreciable amount of an asset on a systematic basis over its useful life.  These methods include the straight-line -, diminishing balance - and units of production method.  The main characteristics of these methods can be summarised as follows:
	Method
	Main characteristic

	Straight-line
	· Allocation of depreciation in fixed instalments

· Benefits or service potential is a function of time and not usage

· Repairs and maintenance charges are fairly constant over useful life.

	Diminishing balance
	· Greater consumption of benefits in earlier periods.

· Decreasing depreciation expense over useful life as there may be uncertainty over the benefits or service potential in later years

· Effectiveness of asset is expected to gradually decline

· Repairs and maintenance charges are expected to increase as asset age, therefore depreciation charges decrease

	Units of production
	· Depreciation charge is based on expected use of asset

· Provides best approximation of consumption of benefits or service potential

· Eliminate the depreciation of an asset while it has not been brought into use


The difference between the above 3 methods are best illustrated through an example.

Example 10.2 – Different methods to depreciate an asset

	
	Straight-line
	Diminishing balance
	Units of production

	Cost of asset
	120 000
	120 000
	120 000

	Residual value
	20 000
	20 000
	20 000

	Expected useful life
	5 year

	
	

	Expected depreciation rate
	
	10%
	

	Expected total number of units
	
	
	50 000

	Actual units – 

Year 1

Year 2

Year 3
	
	
	15 000

20 000

15 000


	Depreciation charge – Year 1 ((120 000 – 20 000)/5)

(120 000 – 20 000) x 10%

15 000/50 000 x 100 000
	20 000
	10 000
	30 000

	Depreciation charge – Year 2

((120 000 – 20 000)/5)

(100 000 – 10 000) x 10%

20 000/50 000 x 100 000
	20 000
	9 000
	40 000

	Depreciation charge – Year 3
((120 000 – 20 000)/5)

(100 000 – 19 000) x 10%

5 000/50 000 x 100 000
	20 000
	8 100
	10 000


Useful lives should be reviewed at least at each year end and revised where expectations are significantly different from previous estimates.  The depreciation charge should then be adjusted for current and future periods.  [Change in accounting estimate – refer to Section B5]

5.2
Estimated useful life

An asset’s useful life is the period over which the municipality expects to consume economic benefits or service potential from the asset.  The economic life of an asset is the period over which the asset is capable of providing economic benefits or service potential, regardless of whether it is to the municipality or another owner.  The useful life of an asset will therefore often be less than the economic life.  If the municipality buys a tanker having a physical life of ten years, but intent to use it only for six years, the useful life would be six years and not ten years.  The calculation of the depreciable amount will this be based on six years.  
As the useful life is estimated when an asset is acquired, management should apply their professional judgement so that the estimate takes into account all relevant information available at the time, including past experience.  Factors that may be considered when estimating the useful life of an asset are:
· expected capacity or output of the asset;
· expected physical wear and tear on the asset, taking into account maintenance plans;
· expected usage of the asset;
· improvements in the technical capabilities of new machines; and

· whether the asset is subjected to a time-limit, e.g. lease period.

As discussed earlier, the estimated useful life should be reviewed at least annually, taking into account changing circumstances.  The effect of the change is recognised evenly over the current and future years using the spreading method or in the year in which the estimate is reviewed so that in subsequent years the depreciation cost is consistent with the revised remaining useful life of the asset.  The latter is referred to as the catch-up method.

Example 10.3 – Change in the estimated useful life of an asset

A machine with a cost price of R80 000 is expected to be used for 8 years.  Using the straight-line method to calculate depreciation, the depreciation charge is R10 000 per annum.  Just before the end of the third year it became known that the machine is outdated and is expected to be used for only another two years.  The effect of the change in estimate can be illustrated as follows:

	
	Originally

	Cost price
	R80 000

	Estimated useful life
	8 years

	Depreciation expense per annum
	R10 000

	Carrying value at end of second year (80 000/10 x 6)
	R60 000

	Remaining useful life
	6 years

	Depreciation expense third year
	R10 000

	Depreciation charge fourth year
	R10 000

	Depreciation charge fifth year
	R10 000


5.3
Residual value

The residual value is the estimated proceeds from the disposal of an asset after taking into account the costs of disposal.  The estimate is based on what would currently be obtained from an asset of the same age and condition expected at the end of its useful life.  The residual value should be estimated at the date of acquisition and should be reviewed at each subsequent reporting date.  Any revision to the residual value will result in a change in the depreciation expense, which should be treated as a change in accounting estimate and applied prospectively.

Depreciation of an asset should begin when the asset is available for use, which may be before the asset is actually brought into use.  Depreciation should continue until the asset is fully depreciated, even if the asset is temporarily idle or retired from active use.

5.4
Component approach

In assessing whether certain parts or costs should be identified as separate components, the cost-benefit principle should be applied.
  Each significant part of an asset should be depreciated separately, when they have different useful lives.  

The useful life of an asset is defined in terms of the asset’s expected utility to the enterprise, while the economic life of an asset refers to the total life of an asset while in possession of one or more owners.  

The asset management policy of an entity may involve the disposal of assets after a specified period or after the consumptions of a certain portion of the economic benefits embodied in the asset.  The useful life of the asset may therefore be shorter than its economic life.  

When a property is acquired, the purchase price relates to both the land and buildings component and should be allocated between them as land is not depreciated whilst buildings are.

The nature of infrastructure assets is such that an asset may consist of more than one significant component along with other smaller components.  The useful lives of these components are usually different to that of the asset as a whole or require replacement at regular intervals, e.g. of assumed that an electrical power station 
consists of turbines, thermal towers 
and a couple of other insignificant components.  The total cost of the power station should be allocated to the significant components, being the turbines and thermal towers 
with the remaining components being treated as a power station.  Each component is then depreciated over its expected useful live.  
For some assets, the cost of a major inspection or service is material.  When such an inspection or service is performed as a condition of continued operation, it may be identified as a separate component of the asset.  

When changes are required to the existing asset register to identify the significant components of assets, it is important to establish a linkage between the components accounted for separately and the remaining portion of the original asset.

Example 10.4 – Asset with separate components

Protea Local Municipality operates an electricity power station which originally cost            R30 000 000 inclusive of a transformer with a cost of R10 000 000.  The useful life of the electricity power station is 20 years, and it is expected to render a constant production for the whole period with no residual value.  The transformer has a useful life of 15 years and at the end of its economic life will have no residual value.  The power station was completed on 30 September 20x4 and brought into or was ready for use 
on the same date.

The following is applicable for the year ended 30 June 20x5:
	Original cost including the transformer
	R30 000 000

	Transformer
	R10 000 000


	Carrying value of network (excluding transformer)
	R20 000 000


	Power station excluding transformer
	R20 000 000

	Depreciation to 30 June 20x5 (20 000 000/20 x 9/12)

	(R750 000)

	Carrying value at 30 June 20x5
	R19 250 000

	Carrying value of transformer
	

	Original cost
	R10 000 000

	Depreciation to 30 June 20x5 (10 000 000/15 x 9/12)

	(R500 000)

	Carrying value at 30 June 20x5
	R9 500 000

	Depreciation for year ended 30 June 20x5
	

	-  Power station
	R750 000

	-  Transformer
	R500 000


6.
Subsequent measurement
Initially an item of property, plant and equipment is recognised at cost.  After the asset has been brought into use, the carrying value of the asset reflected in the statement of financial position, must be adjusted to reflect the past usage of the asset.  Such an adjustment must be made at each subsequent reporting date.  
GAMAP 17 allows for two measurement models to determine the carrying value of property, plant and equipment, being the cost model or the revaluation model.
6.1
The cost model

All items of property, plant and equipment measured in accordance with the cost model, are carried at cost less accumulated depreciation and impairment losses.  In other words, the historical cost of an asset is written-off over the expected useful life of the asset.  
No adjustments, other than the capitalisation of subsequent expenditure, are made for increases in the value of an asset.  
6.2
The revaluation model
An alternative to the cost model, land and buildings 
may be measured according to the revaluation model, where it is carried at the fair value of the asset on the date of revaluation, less subsequent accumulated depreciation and subsequent accumulated impairment losses.

The fair value of land and buildings is usually their market value, determined by appraisal.  An appraisal of the value of an asset is normally undertaken by a member of the valuation profession who holds a recognised and relevant professional qualification.  For many assets, the fair value will be readily ascertainable by reference to quoted prices in an active and liquid market, e.g. current market prices can usually be obtained for land and non-specialised buildings.
The frequency of revaluations depends upon the movements in the fair values of land and buildings being revalued.  When the fair value of a revalued asset differs materially from its carrying amount, a further revaluation is necessary.  Some land and buildings may experience significant and volatile movements in fair value, thus necessitating annual revaluation.  Such frequent revaluations are unnecessary for land and buildings with only insignificant movements in fair value.  Instead, revaluation every three or five years may be sufficient.
A revaluation is performed by comparing the carrying value of the land or buildings with its market value, which is determined by a professional valuer.  The carrying value is adjusted upwards and the resulting increase is transferred to the revaluation surplus which forms part of the net assets of the municipality.  
Upon revaluation of a depreciable asset, the balance of accumulated surplus relating to the specific asset, can either be proportionately restated for the effect of the revaluation (gross basis) or eliminated against the gross carrying value of the asset (net basis).

Example 10.5 – Gross basis versus the net basis of restating accumulated depreciation
An office building with a cost price of R3 000 000 and accumulated depreciation of R 500 000, is revalued when the fair value is R2 800 000.  The asset was acquired 5 years ago and its original estimated useful life was estimated as 30 years.  The building had no residual value.
	Remaining useful life of building (30 – 5)
	25 years

	Carrying value of building prior to revaluation (3 000 000 x 25/30)
	R2 500 000

	Fair value at date of revaluation
	R2 800 000

	Revaluation surplus (2 800 000 – 2 500 000)
	R300 000


a) Gross basis to restate accumulated depreciation
The fair value of the building with a remaining useful life of 25 years is R2 800 000.  This is equal to a building with an original cost of R3 360 000 (R2 800 000 x30/25) and accumulated depreciation of R560 000 (R3 360 – R2 800).  When applying the gross basis, both the original cost and accumulated depreciation should be restated proportionately.
	
	Debit
	Credit

	Building (3 360 000 – 3 000 000)
	360 000
	

	Accumulated depreciation (560 000 – 500 000)
	
	60 000

	Revaluation surplus
	
	300 000

	
	
	


b) Net basis to restate accumulated depreciation
The accumulated surplus prior to the revaluation is eliminated against the carrying value of the asset, which is then 
increased to the fair value.

	
	Debit
	Credit

	Accumulated depreciation
	500 000
	

	Buildings
	
	500 000

	
	
	

	Building (2 800 000 – (3 000 000 – 500 000))
	300 000
	

	Revaluation surplus
	
	300 000

	
	
	


The treatment of the accumulated depreciation has no effect on the revaluation reserve, however the information provided in the notes to the financial statements is substantially different.  The net basis may create the impression that the asset was new as there is no opening balance for accumulated depreciation.  Users of the financial statements are therefore likely to find the gross basis more meaningful.
The revaluation surplus is realised through the usage or disposal of the asset.  The portion of the increased depreciation as a result of the revaluation is released from the revaluation surplus to the accumulated surplus.  If the asset is disposed of, the remaining balance of the revaluation surplus is transferred to the accumulated surplus.  Movements in the revaluation surplus will not affect the statement of financial performance.

Example 10.6 – Depreciating a revalued asset
The building in the previous example had a remaining useful life of 25 years, after being revalued to the fair value of R2 800 000.  Therefore the depreciation expense recognised in the statement of financial performance in the following year, would amount to R112 000 (R2 800 000/25).  It would be acceptable to transfer some of the revaluation surplus to the accumulated surplus if the municipality’s policy is to release the revaluation reserve as the asset is depreciated.  The following journal entry is required:
	
	Debit
	Credit

	Depreciation 
	112 000
	

	Accumulated depreciation
	
	112 000

	
	
	

	Revaluation surplus (112 000 – (3 000 000/30)
	12 000
	

	Accumulated surplus
	
	12 000


The R112 000 is calculated as the difference in depreciation based on the revalued amount and its historical cost price.  This implies that the revaluation reserve is released to the accumulated surplus as the asset is used.

Regardless of which model is applied, it should be applied consistently to all land and buildings within that class, e.g. vacant land, operational buildings, etc.

7.
Recovery of the carrying amount (Impairment)
The carrying amount of an item of property, plant and equipment is usually recovered on a systematic basis over the useful life of the asset by way of usage.  If the use of an item or group of similar items is impaired, e.g. damage or technological obsolescence or other economic factors, the recoverable amount of the asset may be less than its carrying amount.  Should this be the case, the carrying amount of the asset should be written down to its recoverable amount as explained in 
IAS 36 / IPSAS 21 on Impairment of Assets.  
The impairment test must be carried out annually, at the same time each period.  

3 Key stages in the impairment process

The stages in the process of identifying and accounting for an impairment loss are as follows:
· assess whether there is an indication that an asset may be impaired.  Note that if there is no such indication, subject to the exceptions listed, no further action is required;
· if there is an indication of impairment, then measure the asset’s recoverable amount; and
· reduce the asset’s carrying amount to its recoverable amount, usually by treating the loss as a separately disclosed expense in the statement of financial performance.  
Step 1 – Indicators of impairment

IAS 36 identifies two sources of information that may indicate that impairment has occurred.

i. External sources including:

· a significant decline in the assets market value.  This may arise, e.g., as a result of a new computer entering the market;
· significant changes in the technological, market, economic or legal environment in which the municipality operates.  This could be as simple as a change in customers taste; and

· increases in market interest rates.
ii. Internal sources including:
· obsolescence or physical damage to the asset;

· significant changes in how an asset is used or is expected to be used, including the asset becoming idle and plans to discontinue or restructure the division in which an asset is used; and

· performance of the asset being below that planned, e.g. actual net cash flows generated by the asset being below that budgeted.

Stage 2 – Measuring recoverable amount

If the carrying amount of an asset (e.g. the cost of an item of plant less the accumulated depreciation charged in relation to it to date) is greater than its recoverable amount, then impairment has taken place.  There has been a loss in the value of the asset.
The recoverable amount of an asset is the higher of its fair value less costs to sell and its “value in use”.  Fair value is the amount obtainable from a sale in an arm’s length transaction between a willing buyer and seller.

The “value in use” calculation is a measure of the future cash flow expected to be derived from an individual asset or a cash-generating unit.  Since cash flows are likely to be over several periods, they should be discounted to take account of the time value of money, e.g. based on their present value.  The calculation needs to take into account the specific risks associated with the asset and the municipality.  
There are two steps involved in calculating the value in use of an asset.  The first is to estimate the future cash inflows and outflows that are expected to arise in relation to the asset.  Inflows should include an estimate for the ultimate disposal of the asset.

The second step is to discount the scheduled cash flows to arrive at a present value.  The discount rate to be used should be the risk-free rate of interest adjusted to reflect the risk associated with the particular asset and municipality.  This risk-adjusted rate of interest should reflect the return that an investor would require if they were to make an investment with cash flows similar to those expected from the asset.  Risk adjusted rates are used in the discounting process and are an indication of the risk/return profile of the municipality.

It is not always necessary to calculate both the asset’s fair value and its value in use.  If either one of these figures is greater than the asset’s current carrying amount then there is no impairment.  This is particularly useful in cases of property where there is an active market and it is relatively straightforward and inexpensive to calculate the fair value.

The recoverable amount should be determined on an individual asset basis as far as possible.  If however, the individual asset does not generate cash flows largely independent from other assets, then the asset is grouped with other assets to form what is referred to as a cash-generating-unit.  This is the smallest group of assets for which it is possible to identify separately independent cash flows.  
Stage 3 – Recognising an impairment loss
If the recoverable amount of an asset is less than its carrying amount, the asset should be reduced to its recoverable amount.  The difference is an impairment loss.
An impairment loss is recognised immediately in the statement of financial performance unless the impairment is in relation to a revalued asset.  An impairment loss on a revalued asset is treated as a decrease in valuation.  To the extent that the asset has previously been revalued upwards, and there remains a balance on the revaluation reserve for that upward valuation, any impairment loss will first be charged against this surplus.  If the impairment is greater than a previous valuation surplus then the excess is charged directly to the statement of financial performance.  

Following the recognition of an impairment loss, any depreciation charged in respect of the asset in future periods will be based on the revised carrying amount, less any residual value expected, over the remaining useful life of the asset.

If the recoverable amount has been calculated on a “cash-generating-unit”, rather than on an individual asset basis, it is important that it is compared with the carrying amount applicable to the whole of the “cash-generating-unit”.  If some of the assets that generate cash inflow are excluded, the carrying amount will be understated.  Although it may therefore appear that the cash-generating-unit is fully recoverable impairment has actually arisen.  
Reversing an impairment loss
If the recoverable amount subsequently increases then in certain circumstances the impairment is reversed.  A reversal of an impairment loss reflects an increase in the estimated service potential of an asset or group of assets.  The increased service potential may be through use or sale.

Any reversal of an impairment loss for an asset should only be recognised to the extent that it increases the carrying amount of the asset to its original pre-impaired value less subsequent depreciation.

The reversal of any impairment is recognised consistently with the original recognition of the impairment loss.  The reversal will therefore normally be recognised in the statement of financial performance.  However, to the extent that the asset was revalued and the impairment loss was recognised in the revaluation reserve, as discussed above, the reversal will also be recognised as a reserves movement only.  
If the reversal of the impairment is in relation to a cash-generating unit, then the reversal is recognised on a pro-rate basis with the carrying amount of the assets, excluding goodwill.

An impairment loss recognised in respect to goodwill should not subsequently be reversed.  This is because it is likely that any increase in the recoverable amount of goodwill in future periods will arise as a result of increases in internally generated goodwill rather that the reversal of an impairment.
8.
Derecognition of property, plant and equipment

When an item of property, plant and equipment ceases to satisfy the definition or recognition criteria for an asset, it should no longer be recognised as an asset, e.g. 
disposal of asset.  Where an asset has been disposed of
, whether through sale or scrapping, the asset should be depreciated up to the date of disposal.  The difference between the carrying value at the date of disposal and the proceeds from the disposal represents the gain or loss on disposal and is recognised in the statement of financial performance.
The date of disposal is regarded as the date on which the risks and rewards associated with ownership of the asset have been transferred to the buyer.

9.
Disclosure

a)
Accounting policy

The note on the accounting policy applied should state the measurement bases used to determine the gross carrying amount of property, plant and equipment, as well as the depreciation methods, useful lives and depreciation rates used.  
“
The accounting policy for the treatment of the revaluation surplus must also be disclosed.

b)
Statement of financial position

The total carrying value of property, plant and equipment should be disclosed as a line-item on the face of the statement of financial position.

The notes to the financial statements should disclose for each class of property, plant and equipment regardless of the measurement basis used:
· The gross carrying amount and accumulated depreciation at the beginning and end of the period.

· A reconciliation of the carrying amount indicating additions, disposal, impairments, movements in revaluations and depreciation.
· Restrictions on the use of property, plant and equipment.
· Amount of expenditure capitalised as part of assets under construction.
When the revaluation model is used for land and buildings, the following additional information should be provided:
· Date of most recent valuation.
· Model used for valuation.
· Accounting policy regarding frequency of valuation.
· Whether an independent valuer was used.
· Methods and assumptions applied when determining the fair value.
· Cost price and carrying value of each class of revalued assets.

c)
Statement of changes in net assets

The movement on the revaluation surplus during the year is reported in the statement of changes in net assets.  

d)
Statement of financial performance

The depreciation expense recognised during the year should be disclosed either on the face of the statement of financial performance or in the notes thereto.  A break-down of the depreciation charge for each class of property, plant and equipment should be provided in the notes to the statement of financial performance.  
Other information that should be separately disclosed in the statement of financial performance are impairment losses, gains and losses on disposal and the nature of changes in estimates and the effect of these changes on the current year.
Example 10.7 – Disclosure of property, plant and equipment

	Year ended 30 June 20x5
	Land and buildings
	Infrastructure
	Other assets
	Total

	Carrying amount at beginning of year
	29 354
	43 900
	11 726
	84 980

	Revaluation surplus
	1 133
	
	
	1 133

	Additions
	8 895
	6 470
	1 484
	16 849

	Disposals
	
	(9 607)
	(380)
	(9 987)

	Impairment charge
	
	(1 075)
	
	(1 075)

	Depreciation charge
	(890)
	(4 768)
	(4 096)
	(9 754)

	Carrying amount at end of year
	38 492
	34 920
	8 734
	82 146

	
	
	
	
	

	At 30 June 20x5
	
	
	
	

	
	
	
	
	

	Cost
	39 628
	56 791
	20 680
	117 099

	Accumulated depreciation
	(1 136)
	(21 871)
	(11 946)
	(34 953)

	Carrying amount
	38 492
	34 920
	8 734
	82 146


Additions include R250 000 (20x4 120 000) which are assets leased under finance leases (where the municipality is the lessee).  Disposals include R230 000 of assets sold under finance leases (where the municipality is the lessor). 

Land and buildings were last revalued during 20x3 by independent valuers.  Valuations were made on the basis of open market value.  If land and buildings were stated on the historical cost basis, the amounts would be as follows:

	
	20x5
	20x4

	
	
	

	Cost
	39 628
	30 733

	Accumulated depreciation
	(8 618)
	(7 748)

	Carrying value
	31 010
	22 985


Transitional provisions
An entity that adopts accrual accounting for the first time in accordance with GAMAP 17 may initially recognise, property, plant and equipment at cost or fair value.  Any adjustments to the carrying value of property, plant and equipment will be recognised as an adjustment against the opening balance of accumulated surplus/deficit.
Assets that were previously recognised in the statement of financial position that no longer meet the definition and recognition criteria established by GAMAP 17, are derecognised by adjusting the opening balance of accumulated surplus/deficit.  Similarly, assets that have not been recognised previously but now satisfy the definition and recognition criteria, are recognised in the statement of financial position by adjusting the opening balance of accumulated surplus/deficit.

When the initial implementation of GAMAP 17 results in a change in accounting policy, it should be disclosed in accordance with the requirements of GRAP 3.

Municipalities are not required to recognise property, plant and equipment for financial years starting within 3 years of the adoption of GAMAP 17.

When a municipality has taken advantage of the transitional provisions, the fact should be disclosed in the notes to the financial statements, along with the progress made on implementing GAMAP 17 in full.
Exemptions
Refer to Section B0.
�  GAMAP 17 only allows for the revaluation of land and buildings, whereas GRAP 17/IAS 16 allows for the revaluation of any item of property, plant and equipment





�Give guidance on implementing the requirements - first time adoption and the use of the Capitalisation Reserve.


�Add comments on "software issues".


�Tangible


[JSB – changed]


�?


[JSB – reworded]


�Not technically correct – 


[JSB - wording changed].


�Reference outstanding


[JSB – included]


�Change re comments


�Indent


[JSB – changed]


�Intrinsic


[JSB – changed]


�Or if recognised historically, can be retained at cost presumably?


[JSB – wording changed]


�Within these broad categories, assets…


[JSB – wording changed]





�Please elaborate


[JSB – wording changed]





�Reference o/s


[JSB – reference included]


�Very difficult as example is not an overhead!!


[JSB – reference changed and content]


�Very difficult as example is not an overhead!!


[JSB – reference changed and content]





�I would argue that this is a  direct cost if used to guard the site.


[JSB – reference changed and content]





�Double full stop –delete


[JSB – reference changed and content]





�Grammar.  This is a very difficult issue to understand.  Can we not illustrate it.  A more practical guide will be a landfill site.


[JSB – reference changed and content]





�Relocating


[JSB – reference changed and content]





�Reword – also duplicates paragraph above


[JSB - deleted


�What about feasibility studies, etc  Making a decision is usually an administrative cost.


[JSB – example included]


�I would move this to the section after depreciation


[JSB – section on components moved]


�Really…electricity may consist of 4 or 5


�Assume that 


�I disagree – will consist of turbines, thermal towers, etc.  I think that transformers and switchgear are distribution assets?


�Power station


�Shouldn’t this be in the first paragraph


�Brought into or was ready for use


�Put a total or delete


�Need to clarify which of these are maintenance 


[JSB - included in (....)]





�Don’t understand.  Does it extend the useful life or enhance the asset


[JSB – wording changed and include further explanations.]


�Technically cannot derecognise


[JSB – please explain – refer to paragraph 39 including a similar example – additional explanations included.]


�Of R50 000


[JSB – changed]


�Referencing


[JSB – included]


�?


[JSB – changed]


�Doesn’t add up to 50 000


[JSB – changed]


�I would move this to the section after depreciation


[JSB – done]


�Shouldn’t this be in the first paragraph


[JSB – changed]


�Can you not put this under components


[JSB – moved to components]


�Assume that 


[JSB – changed]


�I disagree – will consist of turbines, thermal towers, etc.  I think that transformers and switchgear are distribution assets?


[JSB – changed]


�I disagree – will consist of turbines, thermal towers, etc.  I think that transformers and switchgear are distribution assets?


[JSB – changed]


�Brought into or was ready for use


�Put a total or delete


[JSB – changed]


�Put a total or delete


�Can you not put this under components


�So revaluations are always to cost?


[JSB – wording changed]


�Depreciation


[JSB – wording changed


�Don’t understand?


[JSB – wording changed]


�Depreciation?


[JSB – wording changed]


�Is then


[JSB – wording changed]


�Is there such a standard?


[JSB – should be IAS 36 – changed]


�Eg


[JSB – changed]


�Of


[JSB – changed]


�under-construction


[JSB – changed]


�Is


[JSB – changed]


�where is this required in GAMAP?


[JSB – deleted]
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